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Precision and Accuracy Test and Error Correction of Measuring the
| sotope Abundances for Uranium Enrichment Process Control

HAO Xue-yuan, YANG Shu-qing

Lanzhou Uranium Enrichment company, Lanzhou 730065, China

Abstract In product line of uranium enrichment, online measurement equipments of the isotope abundance in
uranium hexafluoride are equipped for the process control. The process demands that measurement results of the
equipments have high reliability as well as quick and economic characteristics. But it is difficult that consideration
is given to the both. Thus in the plant, it is needed to design a measurement method rationally that meets these
demands. The design depends on tests on precision, accuracy and estimation of uncertainty. This paper discusses
how to make tests on precision and accuracy of the online measure by mass spectrometer, by an actual example in
the plant, and how to correct system error and how to estimate uncertainty of the method according to the tests.
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